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ol S RIIY 1S (el a2
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2

01 AXESHMA2EE 1,477,200 1,508,200 A 31,000
o9 =sg2eAH 1,477,200
= 1,231,000
= 246,200

ESE=S SAAE(2D) 3,500,000 3,700,000 A 200,000
& 3,500,000

403 KXIEHMSK=201A 3,500,000 3,700,000 A 200,000
= 3,500,000

01 AIXESHMA2EE 3,500,000 3,700,000 A 200,000
O=3}=cS==24HAMd 3,500,000
= 3,500,000

SFEAMAESH(Z2D) 445,000 1,100,000 655,000
= 445,000

201 LEH2AH| 5,000 0 5,000
& 5,000

01 AtR22telyl 5,000 0 5,000
OHEMY &4 5,000
= 5,000

202 (4 5,000 0 5,000
= 5,000

01 2 5,000 0 5,000
OSENY =4 5,000
= 5,000

308 NAXHMSOIH 78,000 60,000 18,000
= 78,000

01 MHXSHHENEE= 78,000 60,000 18,000
OHENY 4 78,000
= 78,000

403 XX SHHSK=201H 357,000 1,040,000 A 683,000
& 357,000

01 MXSHX2EX 357,000 1,040,000 A 683,000
OSEAMY =Y 357,000
2 357,000

SEMASH(EHAH)(21) 1,400,000 1,000,000 400,000
= 1,400,000

308 NAXHMSOIH 808,000 140,000 668,000
= 808,000

01 MXSHHENEE= 808,000 140,000 668,000
OXNE=sHEHAH 808,000
= 808,000

403 XX SHHSK=201H 592,000 860,000 A 268,000
& 592,000

01 XXIEMAEE=x 592,000 860,000 A 268,000
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1,814,402

SN (B) - MBEAY - B2 0l aF ol Soe HDE2
OXNE=sdEHAH 592,000
Z 592,000
sXolgze N|(=21) 314,327 57,600 256,727
J| 314,327
308 MXISHHSOIH 314,327 57,600 256,727
J| 314,327
01 MXSHHENEET= 314,327 57,600 256,727
OsXolgae X 314,327
J| 314,327
AeEg=ae| 29(=21) 74,042 92,553 A18,511
= 74,042
201 Et24d| 12,714 15,893 N3,179
= 12,714
01 AIR22|t] 12,714 15,893 N3,179
oYL FT 12,714
= 12,714
202 044l 13,728 17,160 N3,432
= 13,728
01 2| 13,728 17,160 N3,432
ox=z2e| =48 13,728
= 13,728
308 XXIEHHSOIN 47,600 59,500 A 11,900
= 47,600
01 IXSHIBMNBEES 47,600 59,500 A 11,900
OAZ $H2ALER =& 47,600
= 47,600
MASE BEAMIEM(Z2D) 31,029,654 32,000,000 N970,346
= 31,029,654
308 XMXIEHHSOIH 31,029,654 32,000,000 AN 970,346
= 31,029,654
01 MXSHHEBNEETS 31,029,654 32,000,000 AN 970,346
OBASHENEN S 31,029,654
= 31,029,654
NEEA MAD|BIAIE 2= 425,000 225,000 200,000
403 XIXISHSA=201H 425,000 225,000 200,000
01 XXM AE2EER 425,000 225,000 200,000
O EH2XO| MAAIA 225,000
OAXZMEAIAE WA 50,000
OH == 2az10) AHEl 150,000
ZOIRIS & B s 3,849,544 3,994,411 A 144,867
2 2,005,842
= 29,300
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YAS2UTY 29 28,000 30,000 A2,000
307 QI2H0IH 28,000 30,000 A2,000
EEREES 28,000 30,000 A2,000
OYASHMEY 2% 28,000
=0ipAe RSN 97,976 97,977 A
308 XHXISHH SO & 97,976 97,977 At
01 RXSHBABES 97,976 97,977 At
OSHSYHYO S02UAS SN 97,976
S0120 YROIASY NV (2D) 2,340,000 2,535,000 A195,000
= 1,950,000
= 390,000
308 XHXISHH SO & 2,340,000 2,535,000 £195,000
= 1,950,000
= 390,000
01 MXSHBABES 2,340,000 2,535,000 195,000
05010l YR0IYRY X 2,340,000
= 1,950,000
= 390,000
=0i2iol DMK X2 X 830,000 950,000 A70,000
308 XHXIEHH SO & 830,000 950,000 A70,000
01 MXSHBASES 830,000 950,000 70,000
050120 IDMRA X2 XL 830,000
CEEEL=RIREYS 268,259 139,259 129,000
202 OiH| 4,800 4,800 0
01 2Uioibl 4,800 4,800 0
OANYER U g0l 4,800
308 XHXISHH SO & 113,459 134,459 ~21,000
01 MXSHBABES 113,459 134,459 £21,000
OO0 H S0l NI AWM 52,000
OSZNLZE0N B2YSXH 24,750
OBSIHAME 2YNY 4,000
00 H sl ME 29 X2 32,709
403 RHXISHSRZ0IH 150,000 0 150,000
01 MXSHRZSE 150,000 0 50,000
O0ISAl SA(X2)XH X 150,000
HYsTA FAH N 133,650 133,650 0
= 29,300
= 104,350
308 XHXISHH SO & 133,650 133,650 0
= 29,300
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20
B
2

403 A XIEHSXH=01H 371,000 374,000 /3,000

02 ZSII2SOCHStCHE At I 371,000 374,000 /3,000
Os0gzlndgaENUyY 2E 350,000
O=gZ3IIE M2 NE 29 21,000

SgoHM 54 145,322 145,250 72

201 LetEE] 1,822 1,750 72

01 AtR2teld] 1,822 1,750 72
SRzl HE&EZ ZEAHH = 1,822

202 O4Hl 3,500 3,500 0

01 =LHAOYI 3,500 3,500 0
OAZ=E A 3,500

307 2120l & 140,000 140,000 0

02 YIS ExX 140,000 140,000 0
OsgelHA = 140,000

St & E8s i 122,500 95,900 26,600
= 122,500

308 KHXISHHMSOIH 122,500 95,900 26,600
= 122,500

01 MXEM3oE 122,500 95,900 26,600
O=saHHIE K| A 122,500
= 122,500

ST IALE X2 ( 290,000 600,000 /310,000
= 290,000

308 NXISHHMSO0IE 290,000 600,000 /310,000
= 290,000

01 XM e 290,000 600,000 A310,000
O=sgadgdas 290,000
= 290,000

SH=gZ3E wE( 61,380 52,000 9,380
= 49,500
S 11,880

308 NHXISHHMSOIE 61,380 52,000 9,380
= 49,500
= 11,880

01 MXEM3AE 61,380 52,000 9,380
o=lH=sg3d 61,380
= 49,500
< 11,880

sHZFIMXAs 228 180,000 576,000 A396,000
= 100,000
S 80,000
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el MEesYol sS4 (=EREE))
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl Ak 04 Sl ko HRs2
307 RI2HOIH 180,000 0 80,000
= 100,000
= 80,000
02 BltAAEX 180,000 0 180,000
O=ZIMITHs 220 180,000
= 100,000
= 80,000
=2 OHOIAEHUSE 29 (=1) 900,000 1,600,000 A'700,000
= 500,000
& 400,000
307 PI2HOIA 900,000 1,600,000 AT00,000
= 500,000
= 400,000
02 BI2tAAEX 900,000 1,600,000 A700,000
OZI=HOI0IAHUE 2 900,000
= 500,000
= 400,000
LRSENY 2 (sHH LY/ =Y - 5F) 58,092,660 61,531,800 23,439,140
= 1,301,374
= 46,601,000
= 10,190,286
sEMENS 2Y 453t 762,800 901,800 A 139,000
= 631,200
= 131,600
SMHUHEMEDNE MRE BRI (=) 331,200 249,600 81,600
= 331,200
308 MHXIHHMSOIA 331,200 249,600 81,600
= 331,200
01 XML EXS 331,200 249,600 81,600
OSMOENE0S ASE HEX 331,200
2 331,200
SEAT 225 57 71,600 132,200 60,600
201 L2y 600 600 0
01 AFR 22| 600 600 0
OIBSO0ZIBAIAY AYUS AHIA A8 600
202 (4 HI 10,000 10,000 0
01 =Wl 10,000 10,000 0
OANYEE U AREo| 10,000
307 212t01& 20,000 20,000 0
02 2ItAAE X 20,000 20,000 0
0% &= MMERNE =X 20,000
308 XX SIS 0| F 41,000 51,600 A10,600
01 XN MBLEEXS 41,000 51,600 A 10,600
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21,000
20,000

o

360,000

300,000
60,000

520,000

160,000

o

360,000

300,000
60,000

520,000

160,000

01 XHXIEX

o

360,000

360,000

300,000
60,000

520,000

A 160,000

[

HoR

,844,860

670,174

,550,000

624,686

2,015,000

1,829,860

H o

—_

,800,000
,500,000

300,000

1,690,000

110,000

H o

—_

,800,000
,500,000

300,000

1,690,000

110,000

A
0x

H o

—_ =

,800,000

,800,000
,500,000

300,000

1,690,000

110,000

oW

184,860

170,174
14,686

184,860

SRR

184,860

170,174
14,686

184,860

o

184,860

184,860

170,174
14,686

184,860

H o

—_

,260,000
,050,000

210,000

325,000

935,000

H o

—_
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210,000

325,000
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H o
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SN SHLEMD
HE: AASENY BRSNS M/5Y - 55)
el SEDOIY HE (sl &
SM-EH . C(BH) - HRAY - B2 O] Ak 4 glggf; HRs2
MEsiE ZAALY(2D) 600,000 0 600,000
= 500,000
= 100,000
403 X SHMSAH=01H 600,000 0 600,000
= 500,000
= 100,000
01 AXEMA=2EER 600,000 0 600,000
Ot ZatE2t &4 600,000
= 500,000
= 100,000
SEXY K 53,485,000 58,615,000 5,130,000
z 44,051,000
= 9,434,000
AEAANY (2 D-E) 10,360,000 10,600,000 A240,000
2 10,360,000
308 XX HHSOIA 7,398,000 7,012,000 386,000
= 7,398,000
01 MXSHBAEEXZ 7,398,000 7,012,000 386,000
Ol 22 AL (40 AIZ) 7,398,000
= 7,398,000
403 KX M SK=01H 2,962,000 3,588,000 A 626,000
= 2,962,000
01 XM= E xR 2,962,000 3,588,000 A 626,000
O&IES A (4 AIZ) 2,962,000
= 2,962,000
MEAANY (2 D-58) 10,500,000 10,500,000 0
= 10,500,000
308 XX HHSOIA 7,042,000 6,940,000 102,000
& 7,042,000
01 MXSHBAEEXZ 7,042,000 6,940,000 102,000
Odle&A AL (50HAIT) 7,042,000
& 7,042,000
403 KX EMSK=01H 3,458,000 3,560,000 A 102,000
= 3,458,000
01 AXEMA=E =X 3,458,000 3,560,000 A 102,000
OdlE A (5 AIZ) 3,458,000
= 3,458,000
MEAANY (2 D-2E) 1,900,000 1,900,000 0
= 1,900,000
308 XX HHSOIA 1,250,000 1,330,000 280,000
& 1,250,000
01 MHXSHILEXZ 1,250,000 1,330,000 280,000
Ol 2t AL (EHEH) 1,250,000
= 1,250,000




SN S0QEYY
HE: YASENL BRI (STHYAL/5Y - 5E)
el SEXS (sl &2
o SIEN
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 0Ol At o8 bRz
403 THXISHHISKH 0| H 650,000 570,000 80,000
z 650,000
01 TXSHRELE 650,000 570,000 80,000
O/l Z2 AL (EHEY) 650,000
= 650,000
s=0t2 SENY MY (SD-38H) 9,156,000 8,696,000 460,000
= 9,156,000
403 X HMSAH=01H 9,156,000 8,696,000 460,000
= 9,156,000
01 MXEMA=2E =R 9,156,000 8,696,000 460,000
OSENSTENLAY 9,156,000
= 9,156,000
SE0l2 ZNYL AY(2D-58) 12,135,000 7,392,000 A5,257,000
z 12, 135,000
403 XXM SK201H 12,135,000 17,392,000 25,257,000
= 12,135,000
01 RXSHMA2E = 12,135,000 17,392,000 25,257,000
OSENSSE ML A 12,135,000
& 12,135,000
MsHEHE2s 255 =4 134,000 227,000 A 93,000
201 LBt 3| 66,000 99,000 A 33,000
01 AR eIl 51,000 84,000 33,000
OSA0I2 AMA NI 2 BE3 HE 17,000
OMsOEAM2E RS 29 7,000
OMSOEALLS MX} - ELSHE 27,000
03 A2 HI 15,000 15,000 0
OMSOEALRS Sl SDS 15,000
202 O4Hl 20,000 20,000 0
01 =Yl 20,000 20,000 0
CEPETIEWES] 20,000
301 YLerEaa 18,000 18,000 0
10 BAIAHIEA S 18,000 18,000 0
OMSOEALSS 923 29 18,000
307 212t01& 30,000 90,000 260,000
02 QIAANBE 30,000 40,000 10,000
OMSOEALSE O3IEI0INE 29 30,000
MsHEHERs 2+ - HEZEY 0t 43 XA 9,300,000 9,300,000 0
403 X HMSAH=01H 9,300,000 9,300,000 0
01 RXSHMA2E = 9,300,000 9,300,000 0
OMSOEALLS 24012 8T 9,000,000




A sHEE
M. UAsE=HY 2} (sEHHlYd/sE - =)
el SEXS (sl &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OMs0EdHEEs HERE02 88 300,000
HHMSHAAH (s HSE A=) (IIEHDIEH) 420,106 417,285 2,821
ol 2 A 376,440 373,620 2,820
S23 olAHHl X& 376,440 373,620 2,820
203 PR=&| 28,800 28,800 0
01 JI22HE =8| 6,000 6,000 0
o=% 6,000
04 2EASEPRF=EH| 22,800 22,800 0
© 152! 0lat 250,000& =210t x12& 6,000
©30Q! 0|st 350, 000& x40t 12& 16,800
204 X FSHAHH| 347,640 344,820 2,820
01 NI LR +HBH| 36,600 36,600 0
o=% 600,000& x1H*12& 7,200
M A 350,000& x7H = 12& 29,400
02 Aza2XH| 249,840 245,820 4,020
©3=2 500,000& x 1 = 12& 6,000
04= 400,000& x7H x12& 33,600
Ob5=2 250,000& x24H 122 72,000
Ob6= 155,000 *34H x12& 63,240
o732 140,000 »29H « 12& 48,720
©8~9= 105,000 *18H «12& 22,680
OANS224+Y (a2 EHH)
300,000& x1H«12& 3,600
03 SFERE S| 61,200 62,400 AN 1,200
ouolesy| 50,000& x102H x12& 61,200
Jl22&dl 43,666 43,665 1
EN2Y JI2&H| 43,666 43,665 1
201 Et24d| 33,586 33,585 1
01 At 22l 27,386 27,385 1
ORNSY AR 224 27,386
02 ss249Hl 6,200 6,200 0
ORN2E 5529l 1,200
OFA(Z Mg eA s )2 5,000
202 (4 i 10,080 10,080 0
01 2| 10,080 10,080 0
OFA2SYE =2U0Hl 10,080
HRES(sHIEHY) (sl Y/ s - &) 2,000,000 3,000,000 A 1,000,000
HEHAH KIS 2,000,000 3,000,000 1,000,000
AT sHEANEDIZ2 28 2,000,000 3,000,000 1,000,000
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